Name: Date;

Period: Pre-Calculus: Sets and Venn Diagrams
Directions: Show all work on a separate sheet of paper.
1. A and B ate two sets and the number of elements in each set 1s shown 1n the Venn diagram. G1ven

that n(4) = n(B), CalCulat;/ & X‘:; “'g«l?{«:-g + 2

a. The value of x
b. f(AUB) and nl4N B )
5l a4

2. U:{p,g,rstuvw} A= {p rs} r vr} and C:{S,t,u,v,w}
‘9 ;3 °'1 @\ [ i:i “55%
a. List the elements of AN B, ﬂ C, C (1 A4, and draw a Venn diagram.
b. List the elements of 4 ) B nec.
£33 | —
3. Given that U ={12,...9}, 4 = {x:x is a multiple of 2}, B={x:x is a multiple of 3}, and
C= {x x is odd } By dxawmg a Venn diagtam hst the eIementS of the following sets.
gaf;%ﬁ?j T -
a. AU B and 4 U BUC
b. BUC and BUC
@155617  (2,43)
4. 'There are 35 pupils in a Pre-Calculus with Tngonometcy class Of these, 22 students will take Calc H

next year, 19 stadents will take AP stat, and 5 students will not take a math. How many students will
take both AP Stat and Calc H next year? WasY: i B =22+~ ANC

1o = AN

ﬁ 5. A survey was given to 75 students at RHS. 16 had Facebook, Twitter and Instagram. 24 had T'witter
' and Facebook. 30 had Instagram and Twitter. 22 had Instagram and Facebook. 7 students only had
Facebook, 10 students only had Twitter and 5 only had Instagram. Make a Venn Diagram for the

situation. Hgy,, M-ﬂmn,i i/l&h/‘i M’E‘M/‘—?

6. Use Venn Diagrams to show that the following s true.
« 4U{Bnc)=(4uBn{4uc)

7. Of 100 customers at REFAtos 1 1zza, 60 ordered cheese and pepperoni on their pizza. All together, 80
_ customers ordered a pizza with cheeze on it, and 72 ordered a pizza with pepperoni on it.
a) How many customers ordered cheese on their pizza, but no pepperoniz 2L ©
b) How many customers ordered pepperoni on their pizza, but no cheese? /3
c) Iow many customers in the group of 100 customers did not order ettehr type of pizza? %
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W&zﬁ&h&eﬁ Venn Diagrams 0

Lisa ‘u‘em“x éiagrama ta:& ;lﬁustratﬁ the following. Use shading to show
yvour work and list the regiong that represent your final answer

according to the diagrams below.
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